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Ann is organising a Valentine’s Day party for her friends. They use a special 5-row code to

] Valentine’s party code

send secret notes to each other. Ann wants to send the entrance password 3124 to her
friends using the code.

Coded password:
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1(1(1/0/0|1{0|{0|1{1|{1({0|1(0|1 1:321231111
0|0{1/0|1{1({0(0|0|0[1(0|1{0}|1 0:2112411111
1(1(1/0/0|1{0|{0|0|1|{0|0|1|1|1 1:3213123
0|0|1|0|0|1({0|0f1|0O|O(O(O(O1 0:21212151
111|1/0({1|1]|1|0[1|1|1|{0[O(O1 ?
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QUESTION

What will be the last line of the coded password?

A. 0:3131331
B. 1:321231111
C. 1:231231111
D. 1:3131331
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